ZEREMNITEAGREE 99 F 9 HiEhEEMEEE R RFEE TR
R NEARE Y BERAE
1~ RHTES 53 2K RE 2 1~ MERZES > AR A S5 E0 2 6~ MEEHNBETECAESEE
e x fF A\ 7tk e x fF &\ 7tk E £ B % | 7 »th
w N (FHEA) 13 16.66% AATHGE 60 76.92%| |EEEHE 47 60.25%
& 53 67.94%| |&EEM %A B NG [H 18 23.07%| |AEFEHE y
DN 8 10.25%|  [2H A5 % |EERERE ’
&/ AN (B8R KFER %| |[FEERIGEE %
EIIREN & 5 B 78 99.99%| |~ %1 E 12 15.38%
f# Al r F R 19 24.35%
fE B ¥ & 2 % 4 5.12%  OEERIT AT H A ERYRE L0 7 & 5 & 78 99.98%
F NI =) é x fF | B 4o tt
& 5 & 78 99.97% " F 61 78.20%| |7~ WEERMTEE  HEELTSRE
& 15 19.23% S5 CEREERNE ?
2~ R E - BHE KA r~ ¥F % & E & B 4 kb
& = B # | H 7 tb xR F R 2 2.56% (CEa) 48 61.53%
FRHs 1 1.28%| |& & 1 % 78 99.99% L 17 21.79%
iyt 1 1.28% NI %
{ZHE 2 2.56%| |3~ MZEEEGHERFHE ? E NN 13 16.66%
(it 1 1.28% - % | 5 7tb & 5 4 & 78 99.98%
IR 6 7.69%|  [HERFEHREE 5 6.41%
=i 5 6.41%| |[MEZE 10 Sr$8LAA 51 65.38% 8~ﬁD%f$xEE'%EZ¥A’$ﬁ%§E FARERF 2SI
TR 3 3.84%| |EEAE 10 2 30 Sy 2 2.56% U AR AL S e 2 ?
FH 1 1.28%|  |HBAE 30 3% 1 /NI % 5 = f % | B 7Lk
(il 2 2.56%| [EEIE 1 /NERDL I % R 7 4 14 17.94%
prisiity 9 11.53%| [ & =~ 20 25.64% L i 10 12.82%
B 4 512% |& & M O 78 99.99% i) %
il e 1 1.28% F NIV 54 69.23%
ZHE 3 3.84% - IEEE B2 BRI ZERE A0 2 & 5 & 78 99.99%
E=(:i 5 6.41% %ﬁ k-4 7 £ |H=5tE
H R 1 1.28% B 59 75.64%| |9 WREEHS  EEHEIEGAE RS
AR 1 1.28% A i 12 15.38%| |SARIEFTILSER Kok LIERIIRER] 2
PN 8 10.25% K~ & % S % =R
bt 3 3.84% xR 7 8.97% ] 7 77 20 25.64%
TER 4 5.12%| |& it ¢ 78 99.99% = 15 19.23%
s 1 1.28% N7 I3 1 1.28%
e 4 5.12%| |5 fme e E R A B K FE R 42 53.84%
ARt 1 1.28% Heh 9 & &t 4 & 78 99.99%
i 1 1.28% E £ F # B 4 bk
ELRE 3 3.84%| | 3 H 57 73.07% 1099 F 9 HERFERIL 78 1 -
N 2 2.56%| % i 17 21799 11> AHESAHMARERO -
FAf 1 1.28%| K 2 & %
B4 1 1.28%| | f % & 4 5.12%
RAs 1 1.28%| |& =t 4 # 78 99.98%
Tt 1 1.28%
ER 1 1.28%
EEt 78 99.89%




